Trigonometry - 6.6 - Solving Trigonometric Equations January 25, 2017

6.6 #1-21 odd finding solutions between 0 and 2pi
#61-69 odd finding all possible solutions (+2pi*k)
#71-83 odd
6.6 Solving Trigonometric Equations 5"/ %
W& | 77
. 1 ! 1
Sin (E) versus SIN X = E
— 1
- . T
o =T 42k
on) \6 one A iz KGZ
ONswe 51T 9
. = ITK
(becavse we (estc)c(J X N

Yhe Jomain 6¢ Binx

fo define si () 2 =+he sk of Inftgels



Trigonometry - 6.6 - Solving Trigonometric Equations January 25, 2017

Solve for x € [0,2m).

2.2sinx =+/3 4.cosx —1=0
sSinX :ng cosx = |

6.2 sinx cos x = v/3sinx X=X
QS\nX(osx~Bsfmx:D f \
l

SINX =0, Lwsx—d =0 L’/_

=0T KcosX =\2
J CO5X = \rg/z_

—1 .l
e/ o |




Trigonometry - 6.6 - Solving Trigonometric Equations January 25, 2017

Algebra Review

(x—2)(x—-3)(x—-4)=0
x-2=0 x=3=0_ T =0

X =2 X = 3 AN = “=

The Zero Product Property states:
If AB =0,then A =0o0rB = 0.

The Square Root Theorem states:

If [f(x)]? = ¢, then f(x) = +/c




Trigonometry - 6.6 - Solving Trigonometric Equations January 25, 2017

6.6 Solving Trigonometric Equations
Solve for all values of x in the interval [0, 2pi)

8.cos°x —1=0 ———>(cosx~D(c05X+D =0
cos'x = | cosx-1=0, cosx+|=0
cosX = | coox=l ) cosx=-|

O —sinTx = QO
Stmlx -0
Slﬂx :Q

10. sec® x + /3 secx —vV2secx —/6 =0
N~/ \_/v—\/
Secx (Seow(g) —Jz (seow@) =0

(secx +S%><5ec;< -5z2) =0
secx+§R=0 L seex~Z2 =0
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14.2cos’x +1 = —3cosx

o?c052><+5<:05)<+\ = (O
Let U= COS X Z

U+l = 0O e \%\
@5 1DY(w + |> e “>=T- ?
(&COSXTD<QQSXTD =0 AL
XCOSx+=Q | Cosx+1=0D

Acoox = | COSX. =~ |

X=5 ) 47

OV

18. 4 cos® x = 3 cosx
4 cos™xX —Bcosx = @
cosx (deos™-3) = O
Acosx-3= 0O
Aeps X =3
COs°X = /-
+{3

Cosr= — 12
T o 9 |1
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